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Civil Land - 0.20 Km
Naap Land - Nil Naap Land - 0.45 Km
| No. of Trees affected - 122 No. of Trees affected - 232
| | Baanz-o Baanz - 17
| | Devdar-1 Devdar- 31
':S ~ | Grade- 1:20 Grade- 1:10 & 1:15 (Not Recommended)
As per IRC 52-2019 Table 6.12 As per IRC 52-2019 Table 6.12
S As per LR.C 52-2019 As per LR.C 52-2019
4.0 Planning Criteria 4.0 Planning Criteria
4.3 Geological condition 4.3 Geological condition

(I) Geological disturbance - Less as the road already
exist in 4 to 5 meter width.

Muck disposal quantity - 5000.00 Cum (Low)

(IT) Land Degradation, Soil Erotion, Land Slides are less

on this existing road and the road is stable.

(III) Loss of Vegetation /trees are Less.
(IV) Importance due to Strategic view is High.

As the alignment is on the existing forest road
therefore loss of public property, farming land is Nil,
Which encourages people/villagers to stay on their
village, Which is very important for the strategic point
of view as the village is situated in border area/border

Nistri

(1) Geological disturbance - More as the road cutting
required in full width i.e 6.00 meter.

Muck disposal quantity - 30000.00 Cum (High)

(1) Land Degradation, Soil Erotion, Land Slides are
more as the the road cutting is proposed for fresh
alignment.

(III) Loss of Vegetation /trees are More.

(IV) Importance due to Strategic view is Low.

As the alignment is from the naap land which
villagers do not like as they will loose all their
cultivated land due to this they have to move to other
places which make this village as a Ghost village and
this is not good for strategic point of view as this village

is situated in border area/border district.

From all the above points alignment No. 1 is the best possible as already recommended on administrative, §evelopment,

Strategic view instead of alternative alignment 2 as suggested by RD.

(Er. P#gveaKush)
Executive Engineer,
Provincial Division P.W.D.,
Uttarkashi.
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